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Proportional Relationships
Practice B: Solving Proportions
Use cross products to solve each proportion.
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22.
Eight oranges cost $1.00. How much will 5 dozen oranges cost? 


23.
A recipe calls for 2 eggs to make 10 pancakes. How many eggs will you need to make 35 pancakes? 
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Review for Mastery


1.
7; 105; 5; 105; yes


2.
15; 90; 9; 9; 81; no


3.
60, 54, no
4.
120, 120, yes


5.
180, 180, yes


Possible answers given.
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Challenge


1.
a. 4
b.
6



c. 5
d.
15



e. 12
f.
20


2.
Answers will vary. Possible answer: Find the number of triangles first.
There must be at least 5 scalene triangles. Then use the ratios.


3.
Answers will vary.

Possible answers given.



a. 12
b.
18



c. 15
d.
45



e. 36
f.
60

Problem Solving
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No; 
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5.
C
6.
J


7.
D
8.
G


Reading Strategies


1.
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2.
no


3.
No, because the ratios are not equal.
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5.
yes


6.
Yes, because the ratios are equal.

Puzzles, Twisters & Teasers


1.
U
2.
H


3.
I
4.
T


5.
S
6.
Y


7.
E
8.
D


9.
A
10.
R


T H E Y  U S E  T H E I R  H E A D S

Answers for Lesson 3

Practice A


1.
8 and 2x
2.
9a and 42


3.
50 and 8b
4.
x ( 4


5.
z ( 5
6.
s ( 6


7.
r ( 16
8.
h ( 12


9.
d ( 3
10.
w ( 3


11.
t ( 6
12.
k ( 3


13.
f ( 2
14.
d ( 21


15.
c ( 18
16.
a ( 30


17.
k ( 12
18.
n ( 15
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Practice B


1.
x ( 14
2.
r ( 28


3.
k ( 45
4.
z ( 9


5.
d ( 66
6.
s ( 72


7.
w ( 36
8.
t ( 12


9.
a ( 24
10.
f ( 14


11.
h ( 18
12.
c ( 135


13.
z ( 60
14.
k ( 16


15.
n ( 15
16.
m ( 45


17.
c ( 6
18.
s ( 40


19.
e ( 8.8
20.
v ( 4.25


21.
a ( 11.2
22.
$7.50


23.
7 eggs

Practice C


1.
x ( 21
2.
z ( 20


3.
a ( 36
4.
r ( 65


5.
f ( 82
6.
k ( 66


7.
w ( 21
8.
t ( 35


9.
j ( 85
10.
h ( 51


11.
d ( 11.9
12.
c ( 133


13.
m ( 6.3
14.
e ( 104


15.
s ( 25.9
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Possible answer:
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Possible answer:
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Possible answer:
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19.
675 pounds
20.
66 pounds

Review for Mastery


1.
2; 2
2.
9; 9



 2;

9



54;

72



3

6


3.
10; 10
4.
x ( 12



10;



60;



15


5.
w ( 42
6.
c ( 10
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9.
$3.40
10.
17 minutes


Challenge


	
	Do quantities increase or decrease?
	Proportion
	Answer

	1.
	both increase
	40 gal; 10 d
	50 gallons

	2.
	both decrease
	80 lb; 2 yd
	8 pounds

	3.
	both increase
	2.5 c; 
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	3.75 cups

	4.
	both increase
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	5 inches

	5.
	both increase
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Problem Solving


1.
9.6, or $9.60
2.
80 grams


3.
16 inches


4.
1,015 pounds of honey 


5.
C
6.
J


7.
B
8.
H

Reading Strategies


1.
yes
2.
no


3.
yes
4.
no


5.
If the cross products of two ratios are equal, the ratios form a proportion.

Puzzles, Twisters & Teasers


1.
A
2.
L


3.
L
4.
T


5.
H
6.
E


7.
F
8.
A


9.
N
10.
S


11.
L
12.
E


13.
F
14.
T


A L L  T H E  F A N S  L E F T
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